
Coordinate  Vectors 

 

Suppose B = {b1, b2, …, bp} is a basis for a subspace H.  For each x ∈ H, the 

coordinates of x relative to B are the weights c1, c2, …, cp
 
such that 

 

  x = c1b1 + c2b2 + … + cpbp , 

 

and the vector in R
p
  

 

  [x]B = 
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Is called the coordinate vector of x relative to B or the B-coordinate vector 

of x. 

 

Suppose A = 
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We have seen that a basis for Col A is B = 
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Is x = 

3

2

4

L

N

M
M
M

O

Q

P
P
P

 in Col A?  If so, find [x]B,  the B-coordinate vector of x. 

 


